X AN >\ 4 —_—
7 2019 2 2 RIBERE 2B 2 == RT 7
L} \J
#1: 7 A THFE93.8) #2: 14 R F(93.69) #3: 5 Bl 1£(86.54)
1 NS: {53 8) BiFER(0) 1 7 NS: E&45 BEEBH(BAC) 23 VP:| 3.82 : 16.18| Total VP: 71.62 Rank:
EW: M&5 HEEERC) -23 EW: S# % FEXH(F0) -1 IMP:| 3 24 7
-
#1 a6 3NW3 -400 Mean: 5CE-1 50 90 1 ||# 2 Iy 5CN-1-100 Mean: 4CN4 130 50 2
v KT9 4CE4 -130 -370 4CE4 130 6.0 1 v 93 4CN4 130 -60  3CN4 130 50 1
¢ QJT7642 Dif: -270 NS:-1  3NW3 400 1.0 4 ¢ J74 Dif: -230 NS:-1  4SE-1 50 30 4
» 97 IMP: -7 EW:-6 3NW4 430 20 3 & AJT76532 IMP: -6 EW:-5 3DW-1 50 30 1
» QJ83 & A9 3NW6 -490 3.0 1 ||as A765 & KQ984 5CN-1 4100 1.0 3
v A2 v J875 3NW5 460 3.0 4 ||e AQ72 I v J86 5CXN-1 200 -40 1
+ K983 *5 + QT9 ¢+ 8632 5CXN-2 -500 -10.0 2
& AKJ & QT6542 » Q8 » K
POV PN ,KT7542 PEVEN 4 JT32
N ~1~~~ »Q643 N 4 ~~~~ o KT54
S ~1~~~ ¢A S 4~~~~ ¢AK5
E 5~214 483 E ~213~ 9%
5~114 ~223~
# 3 » J93 2DXW-1200 Mean: 2DXW-1 200 40 1 ||# 4 s Ab 2SS-3-300 Mean: 3CE-2 200 8.0 1
v A876 2CW-1100 60 2883 140 20 2 v QJ3 2CE2-90 -120 4HW-1 100 60 3
¢T3 Dif: 100 NS:4 2SS2 110 20 1 ¢ K962 Dif: 210 NS:-5 3CE-1 100 6.0 1
& AKT7 IMP: 3 EW:-1 1NS2 120 20 1 & KT54 IMP: -5 EW:-1 2CE2 90 1.0 2
a7 » AB654 3CW-1 100 1.0 1 ||a JT42 a Q9 2CE3 4110 0.0 2
v QT4 v J52 2DW-1 100 1.0 1 ||e KT952 _I_ v A84 3HW4 470 20 1
+ AKQJ8 *2 2CW-1 100 1.0 2 ||e A54 ¢ QJ 3DN-3 300 -5.0 1
» Q543 & 9862 1NS1 90 10 1 ||a8 & AQ9762 2SS-3 300 -5.0 1
PV PN L,KQT2 3NS-1 50 3.0 1 ®¢V PN , K8753 4HW4 620 -11.0 2
N ~1121 ¢K93 2HN-1 50 30 1IN ~1~~~ #76
S ~1121 97654 2DS-1 -50 3.0 1 S ~1~~~ ¢T873
E ~~~~~ aJ 4HN-3 150 50 1||E 2~322 &J3
1~~=~~ 2~322
#5 I 4HS4 620 Mean: 4SXE-4 800 60 1 ||# 6 » KQ8 3CE3 -110 Mean: 5DE-1 100 50 1
v KT9743 4HN4 620 550  4HS4 620 20 4 v 6542 2SS-1-50 -100 2SS-1 -50 20 2
¢ KT93 Dif: 0 NS:2 4HN4 620 20 7 ¢ 62 Dif: -60 NS:0 3CE3 110 0.0 2
aT72 IMP: 0 EW:-2 4SXE-2 300 6.0 1 » J862 IMP: -2 EW:-2 2SS-2 100 0.0 2
A JT9 » Q8754 3NS-2 200 -13.0 1 ||a J964 aT 2NW2 120 1.0 2
v 62 v AQ v 83 — v AQT7 3DW5 150 2.0 1
+ A65 ¢ J87 + AQT9 ¢ 7543 3DE5 150 20 1
» J8643 & Q95 & ATS & KQ97 28S-3 150 2.0 2
PV PN 4 AKG32 PEVEN 4 A7532 2NW4 180 20 1
N 14411 »J85 N ~~~~~ v KJ9
S 14411 ¢Q42 S ~~~~~ * KJ8
E ~~~~~ » AK E 35213 #43
~~~~~ 35213
#7 a J87 28W2-110 Mean: 3sw-2 200 60 1/|[|#38 » AQY7 2HW-150 Mean: 3HW-1 50 20 1
v J86 2SW2 -110 -30  2SW-1 100 40 4 v 843 2HW-150 -30  2HW-1 50 20 6
*QJ Dif: 0 NS:-2 2SwW2 110 20 6 + 9865 Dif: 0 NS:2 2HW2 110 20 6
& AKJ97 IMP: 0 EW:2 2SW3 140 3.0 1 & K6 IMP: 0 EW:-2 2HW3 140 3.0 1
& AKT93 & 542 2SE3 140 3.0 1 » K6 & JT53
v A4 + v Q952 3CN-2 200 5.0 1 ||e AT7652 v K
¢ 7632 ¢ AT * AQ ¢ J432
» 32 S & QT84 » 942 » QJ83
®eVPN L Q6 ®OVEeN o842
N 121~1 «KT73 N ~~~~~ v QJ9
S 121 ~1 ¢K9854 S ~~~~~ * KT7
E ~~~1~ a65 E 2~11~ &AT75
~~~1~ 2111~
#9 & 972 4DN-1-50 Mean: 3NS5 460 100 1 |[|# 10 » AQT86 4SN4 620 Mean: 4SN4 620 4.0 2
v AQ3 3SE-1100 30  3NS3 400 9.0 1 v 62 4HS4 620 490  4HS5 650 4.0 1
o K8742 Dif: -150 NS:-2 4SE-2 200 50 1 ¢ AK84 Dif: 0 NS:4 4HS4 620 4.0 7
» T4 IMP: -4 EW:-2 3SE-1 100 20 2 » Q4 IMP: 0 EW:-4 3NS3 600 3.0 1
D) & AJT86543 4DN-1 50 20 3 [|a 42 # J753 A 00 1
v KT42 v J5 5DN-2 100 40 2 ||e Q974 _I_ vJ 3NS-2 200 120 2
¢ JT9 ¢ 65 4HN-2 100 40 1 ||e Q3 * J652
& AJ9763 & 8 4DN-2 100 40 2 ||& 98762 & AT53
PEVEN ,KQ 5DN-3 150 5.0 1 PEVEN 4 KO
N ~31~4 9876 N ~4 454 » AKT853
S 132~3 ¢AQ3 S ~4454 o797
E ~~~2~ &KQ52 E ~~~~~ & KJ
~ o~ o~ 2 ~ W~ e~~~




X AN >\ 4 —_—
7 2019 2 2 RIBERE 2B 2 == RT 7
L} \J
#1: 7 A THFE93.8) #2: 14 R F(93.69) #3: 5 Bl 1£(86.54)
2 NS: B=&3 # BIE(EO) 13 14 NS: B8 B (BAC) 9 VP:| 11.50 : 8.50 Total VP: 77.62 Rank:
EW: &&E FEEEIC) -9 EW: Rocky Tam Barney L IMP:} 12 : 8 4
- —
#1 a6 3NWS5 -460 Mean: 5CE-1 50 90 1 ||# 2 » 4SE-1 50 Mean: 4CN4 130 50 2
v KT9 3NW6 -490 -370 4CE4 130 6.0 1 v 93 5CN-1-100 -60  3CN4 130 50 1
¢ QJT7642 Dif: 30 NS:-3 3NW3 400 1.0 4 ¢ J74 Dif: 150 NS:3 4SE-1 50 30 4
» 97 IMP: 1 EW:3 3NW4 430 20 3 & AJT76532 IMP: 4 EW:1  3DW-1 50 30 1
» QJ83 & A9 3NW6 -490 3.0 1 ||as A765 & KQ984 5CN-1 4100 1.0 3
v A2 v J875 3NW5 460 3.0 4 ||e AQ72 I v J86 5CXN-1 200 -40 1
+ K983 *5 + QT9 ¢+ 8632 5CXN-2 -500 -10.0 2
& AKJ & QT6542 » Q8 » K
POV PN ,KT7542 PEVEN 4 JT32
N ~1~~~ »Q643 N 4 ~~~~ o KT54
S ~1~~~ ¢A S 4~~~~ ¢AK5
E 5~214 483 E ~213~ 9%
5~114 ~223~
# 3 » J93 3CW-1100 Mean: 2DXW-1 200 40 1 ||# 4 s Ab 3HW4 -170 Mean: 3CE-2 200 8.0 1
v A876 1NS2120 60 2883 140 20 2 v QJ3 2CE2-90 -120 4HW-1 100 60 3
¢T3 Dif: 20 NS:1  2SS2 110 20 1 ¢ K962 Dif: -80 NS:-2 3CE-1 100 6.0 1
& AKT7 IMP: -1 EW:-2 1NS2 120 20 1 & KT54 IMP: -2 EW:-1 2CE2 90 1.0 2
a7 » AB654 3CW-1 100 1.0 1 ||a JT42 a Q9 2CE3 4110 0.0 2
v QT4 v J52 2DW-1 100 1.0 1 ||e KT952 + v A84 3HW4 470 20 1
+ AKQJ8 *2 2CW-1 100 1.0 2 ||e A54 *QJ 3DN-3 300 -5.0 1
» Q543 & 9862 1NS1 90 10 1 ||a8 & AQ9762 2SS-3 300 -5.0 1
®EVE®N L KQT2 3NS-1 50 3.0 1 ®¢V PN , K8753 4HW4 620 -11.0 2
N ~1121 ¢K93 2HN-1 50 30 1IN ~1~~~ #76
S ~1121 97654 2DS-1 -50 3.0 1 S ~1~~~ ¢T873
E ~~~~~ aJ 4HN-3 150 50 1||E 2~322 &J3
1~~=~~ 2~322
#5 I 4HS4 620 Mean: 4SXE-4 800 60 1 ||# 6 » KQ8 3DE5 -150 Mean: 5DE-1 100 50 1
v KT9743 4HN4 620 550  4HS4 620 20 4 v 6542 3CE3-110 -100 2SS-1 -50 20 2
¢ KT93 Dif: 0 NS:2 4HN4 620 20 7 ¢ 62 Dif: -40 NS:-2 3CE3 110 0.0 2
aT72 IMP: 0 EW:-2 4SXE-2 300 6.0 1 » J862 IMP: -1 EW:0 2SS-2 100 0.0 2
A JT9 » Q8754 3NS-2 200 -13.0 1 ||a J964 aT 2NW2 120 1.0 2
v 62 v AQ v 83 — v AQT7 3DW5 150 2.0 1
+ A65 ¢ J87 + AQT9 ¢ 7543 3DE5 150 20 1
» J8643 & Q95 & ATS & KQ97 28S-3 150 2.0 2
PV PN 4 AKG32 PEVEN 4 A7532 2NW4 180 20 1
N 14411 »J85 N ~~~~~ v KJ9
S 14411 ¢Q42 S ~~~~~ * KJ8
E ~~~~~ » AK E 35213 #43
~~~~~ 35213
#7 a J87 28W-1100 Mean: 3sw-2 200 60 1/|[|#38 » AQY7 2HW-150 Mean: 3HW-1 50 20 1
v J86 3SW-2200 -30  2SW-1 100 40 4 v 843 2HW-150 -30  2HW-1 50 20 6
*QJ Dif: -100 NS:4 2SW2 110 20 6 + 9865 Dif: 0 NS:2 2HW2 110 20 6
& AKJ97 IMP: -3 EW:-6 2SW3 140 3.0 1 & K6 IMP: 0 EW:-2 2HW3 140 3.0 1
& AKT93 & 542 2SE3 140 3.0 1 » K6 & JT53
v A4 + v Q952 3CN-2 200 5.0 1 ||e AT7652 v K
¢ 7632 ¢ AT * AQ ¢ J432
» 32 S & QT84 » 942 » QJ83
®eVPN L Q6 ®OVEeN o842
N 121~1 «KT73 N ~~~~~ v QJ9
S 121 ~1 ¢KOo854 S ~~~~~ * KT7
E ~~~1~ a65 E 2~11~ &AT75
~~~1~ 2111~
#9 & 972 4SE-2 200 Mean: 3NS5 460 100 1 |[|# 10 » AQT86 3NS3 600 Mean: 4SN4 620 4.0 2
v AQ3 5DN-2-100 30  3NS3 400 9.0 1 v 62 4HS4 620 490  4HS5 650 4.0 1
o K8742 Dif: 300 NS:5 4SE-2 200 50 1 ¢ AK84 Dif: 20 NS:3 4HS4 620 4.0 7
» T4 IMP: 7 EW:4 3SE-1 100 20 2 » Q4 IMP: -1 EW:-4 3NS3 600 3.0 1
D) & AJT86543 4DN-1 50 20 3 [|a 42 # J753 A 00 1
v KT42 v J5 5DN-2 100 40 2 ||e Q974 _I_ vJ 3NS-2 200 120 2
¢ JT9 ¢ 65 4HN-2 100 40 1 ||e Q3 * J652
& AJ9763 & 8 4DN-2 100 40 2 ||& 98762 & AT53
PEVEN ,KQ 5DN-3 150 5.0 1 PEVEN 4 KO
N ~31~4 9876 N ~4 454 » AKT853
S 132~3 ¢AQ3 S ~4454 o797
E ~~~2~ &KQ52 E ~~~~~ & KJ
~ o~ o~ 2 ~ W~ e~~~




X AN >\ 4 —_—
7 2019 2 2 RIBERE 2B 2 == RT 7
L} \J
#1: 7 A THFE93.8) #2: 14 R F(93.69) #3: 5 Bl 1£(86.54)
3 NS: BEZ2R M EEEEE0) 14 9 NS: FEE5%E 88 $%(FFAC) 1 VP:| 12.51 7.49 Total VP: 67.91 Rank:
EW: S5 #EER(FAC) 1 EW: BE0H B SE(8H0) -14 IMP:| 24 17 9
# 1 a6 3NW4 -430 Mean: 5CE-1 50 90 1 ||# 2 'y 3DW-150 Mean: 4CN4 130 50 2
v KT9 3NW5 -460 -370 4CE4 130 6.0 1 v 93 4SE-150 -60 3CN4 130 50 1
¢ QJT7642 Dif: 30 NS:-2 3NW3 400 1.0 4 ¢ J74 Dif: 0 NS:3 4SE-1 50 30 4
» 97 IMP: 1 EW:3 3NW4 430 20 3 & AJT76532 IMP: 0 EW:-3 3DW-1 50 30 1
» QJ83 & A9 3NW6 -490 3.0 1 ||as A765 & KQ984 5CN-1 4100 1.0 3
v A2 v J875 3NW5 460 3.0 4 ||e AQ72 I v J86 5CXN-1 200 -40 1
+ K983 *5 * QT9 * 8632 5CXN-2  -500 -10.0 2
& AKJ & QT6542 » Q8 » K
POV PN ,KT7542 PEVEN 4 JT32
N ~1~~~ v Q643 N 4 ~~~~ v KT54
S ~1~~~ ¢A S 4~~~~ ¢AK5
E 5~214 483 E ~213~ 9%
5~114 ~223~
# 3 » J93 2DS-1-50 Mean: 2DXW-1 200 40 1 ||# 4 s Ab 3CE-2200 Mean: 3CE-2 200 8.0 1
v A876 2SS3140 60  2SS3 140 20 2 v QJ3 4HW4 -620 -120  4HW-1 100 60 3
¢T3 Dif: -190 NS:-3 2SS2 110 20 1 ¢ K962 Dif: 820 NS:8 3CE-1 100 6.0 1
& AKT7 IMP: -5 EW:-2 1NS2 120 20 1 & KT54 IMP: 13 EW:11 2CE2 90 1.0 2
a7 » AB654 3CW-1 100 1.0 1 ||a JT42 a Q9 2CE3 4110 0.0 2
v QT4 v J52 2DW-1 100 1.0 1 ||e KT952 + v A84 3HW4 470 20 1
* AKQJ8 *2 2CW-1 100 1.0 2 ||e A54 *QJ 3DN-3 300 -5.0 1
» Q543 & 9862 1NS1 90 10 1 ||a8 & AQ9762 2SS-3 300 -5.0 1
®EVE®N L KQT2 3NS-1 50 3.0 1 ®¢V PN , K8753 4HW4 620 -11.0 2
N ~1121 ¢K93 2HN-1 50 30 1IN ~1~~~ #76
S ~1121 97654 2DS-1 -50 3.0 1 S ~1~~~ ¢T873
E ~~~~~ aJ 4HN-3 150 50 1||E 2~322 &J3
1~~=~~ 2~322
#5 I 4HN4 620 Mean: 4SXE-4 800 60 1 ||# 6 » KQ8 2S5S-3-150 Mean: 5DE-1 100 50 1
v KT9743 4SXE-4 800 550 4HS4 620 20 4 v 6542 3DW5 -150 -100 2SS-1 -50 20 2
¢ KT93 Dif: 180 NS:2 4HN4 620 20 7 ¢ 62 Dif: 0 NS:-2 3CE3 110 0.0 2
aT72 IMP: -5 EW:-6 4SXE-2 300 6.0 1 » J862 IMP: 0 EW:2 2SS-2 100 0.0 2
A JT9 » Q8754 3NS-2 200 -13.0 1 ||a J964 aT 2NW2 120 1.0 2
v 62 v AQ v 83 — v AQT7 3DW5 150 2.0 1
+ A65 ¢ J87 + AQT9 ¢ 7543 3DE5 150 20 1
» J8643 & Q95 & ATS & KQ97 28S-3 150 2.0 2
PV PN 4 AKG32 PEVEN 4 A7532 2NW4 180 20 1
N 14411 »J85 N ~~~~~ v KJ9
S 14411 ¢Q42 S ~~~~~ + KJ8
E ~~~~~ » AK E 35213 #43
~~~~~ 35213
#7 a J87 2SE3 -140 Mean: 3SW-2 200 60 1||# 8 » AQ97 2HW2 -110 Mean: 3HW-1 50 20 1
v J86 2SW-1100 -30  2SW-1 100 40 4 v 843 2HW2 110 -30  2HW-1 50 20 6
*QJ Dif: -240 NsS:-3 2SW2 110 20 6 + 9865 Dif: 0 NS:-2 2HW2 110 20 6
& AKJ97 IMP: -6 EW:-4 2SW3 140 3.0 1 & K6 IMP: 0 EW:2 2HW3 140 3.0 1
& AKT93 & 542 2SE3 140 3.0 1 » K6 & JT53
v A4 + v Q952 3CN-2 200 5.0 1 ||e AT7652 v K
¢ 7632 ¢ AT * AQ ¢ J432
» 32 S & QT84 a 942 » QJ83
®eVPN L Q6 ®OVEeN o842
N 121~1 «KT73 N ~~~~~ v QJ9
S 121 ~1 ¢KOo854 S ~~~~~ * KT7
E ~~~1~ a65 E 2~11~ &AT75
~~~1~ 2111~
#9 s 972 3NS3 400 Mean: 3NS5 460 100 1 |[|# 10 o AQT86 4HS4 620 Mean: 4SN4 620 4.0 2
v AQ3 4DN-1-50 30  3NS3 400 9.0 1 v 62 4HS5 650 490  4HS5 650 4.0 1
o K8742 Dif: 450 NS:9 4SE-2 200 50 1 ¢ AK84 Dif: -30 NS:4 4HS4 620 4.0 7
» T4 IMP: 10 EW:2 3SE-1 100 20 2 » Q4 IMP: -1 EW:-4 3NS3 600 3.0 1
D) & AJT86543 4DN-1 50 20 3 [|a 42 # J753 A 00 1
v KT42 v J5 5DN-2 100 40 2 ||v Q974 _I_ vJ 3NS-2 200 120 2
¢ JT9 ¢ 65 4HN-2 100 40 1 ||e Q3 * J652
& AJ9763 & 8 4DN-2 100 40 2 ||& 98762 & AT53
PEVEN ,KQ 5DN-3 150 5.0 1 PEVEN 4 KO
N ~31~4 9876 N ~4 454 » AKT853
S 132~3 ¢AQ3 S ~4454 o797
E ~~~2~ &KQ52 E ~~~~~ & KJ
~ o~ o~ 2 ~ W~ e~~~




X AN >\ 4 —_—
7 2019 2 2 RIBERE 2B 2 == RT 7
L} \J
#1: 7 A THFE93.8) #2: 14 R F(93.69) #3: 5 Bl 1£(86.54)
4 NS: BE#ESE £ % H(3H0) -37 1 2 NS: B[{ER ¥ (BAC) -7 VP:| 4.95 15.05| Total VP: 33.43 Rank:
EW: BRARSE BekiEEAC) 7 EW: Fih.0 B8R (5FO) 37 IMP:| 11 27 14
-
# 1 a6 3NW3 -400 Mean: 5CE-1 50 90 1 ||# 2 'y 5CXN-2 -500 Mean: 4CN4 130 50 2
v KT9 3NW4 -430 -370 4CE4 130 6.0 1 v 93 4SE-150 -60 3CN4 130 50 1
¢ QJT7642 Dif: 30 NS:-1  3NW3 400 1.0 4 ¢ J74 Dif: -550 NS:-10 4SE-1 50 30 4
» 97 IMP: 1 EW:2 3NW4 430 20 3 & AJT76532 IMP: -11 EW:-3 3DW-1 50 30 1
» QJ83 & A9 3NW6 -490 3.0 1 ||as A765 & KQ984 5CN-1 4100 1.0 3
v A2 v J875 3NW5 460 3.0 4 ||e AQ72 I v J86 5CXN-1 200 -40 1
+ K983 *5 + QT9 ¢+ 8632 5CXN-2 -500 -10.0 2
& AKJ & QT6542 » Q8 » K
® OV ®N LKT7542 POVEN 4 JT32
N ~1~~~ v Q643 N 4 ~~~~ v KT54
S ~1~~~ ¢A S 4~~~~ ¢AK5
E 5~214 483 E ~213~ 9%
5~114 ~223~
# 3 » J93 2SS2 110 Mean: 2DXW-1 200 40 1 ||# 4 s Ab 4HW-1100 Mean: 3CE-2 200 8.0 1
v A876 2CW-1100 60 2883 140 20 2 v QJ3 2CE3 110 -120  4HW-1 100 60 3
¢T3 Dif: 10 NS:2 2SS2 110 20 1 ¢ K962 Dif: 210 NS:6 3CE-1 100 6.0 1
& AKT7 IMP: 0 EW:-1 1NS2 120 20 1 & KT54 IMP: 5 EW:0 2CE2 90 1.0 2
a7 » AB654 3CW-1 100 1.0 1 ||a JT42 a Q9 2CE3 4110 0.0 2
v QT4 v J52 2DW-1 100 1.0 1 ||e KT952 _I_ v A84 3HW4 470 20 1
+ AKQJ8 *2 2CW-1 100 1.0 2 ||e A54 *QJ 3DN-3 300 -5.0 1
» Q543 & 9862 1NS1 90 10 1 ||a8 & AQ9762 2SS-3 300 -5.0 1
®EVE®N L KQT2 3NS-1 50 3.0 1 ®¢V PN , K8753 4HW4 620 -11.0 2
N ~1121 ¢K93 2HN-1 50 30 1IN ~1~~~ #76
S ~1121 97654 2DS-1 -50 3.0 1 S ~1~~~ ¢T873
E ~~~~~ aJ 4HN-3 150 50 1||E 2~322 &J3
1~~=~~ 2~322
#5 I 3NS-2-200 Mean: 4SXE-4 800 60 1 ||# 6 » KQ8 2SS-3-150 Mean: 5DE-1 100 50 1
v KT9743 4HN4 620 550  4HS4 620 20 4 v 6542 2SS-2-100 -100  2SS-1 -50 20 2
¢ KT93 Dif: -820 NS:-13 4HN4 620 20 7 ¢ 62 Dif: -50 NS:-2 3CE3 110 0.0 2
aT72 IMP: -13 EW:-2 4SXE-2 300 6.0 1 » J862 IMP: -2 EW:0 2SS-2 100 0.0 2
A JT9 » Q8754 3NS-2 200 -13.0 1 ||a J964 aT 2NW2 120 1.0 2
v 62 v AQ v 83 — v AQT7 3DW5 150 2.0 1
+ A65 ¢ J87 + AQT9 ¢ 7543 3DE5 150 20 1
» J8643 & Q95 & ATS & KQ97 28S-3 150 2.0 2
PV PN 4 AKG32 PEVEN 4 A7532 2NW4 180 20 1
N 14411 »J85 N ~~~~~ v KJ9
S 14411 ¢Q42 S ~~~~~ * KJ8
E ~~~~~ » AK E 35213 #43
~~~~~ 35213
#7 a J87 28W2'-110 Mean: 3sw-2 200 60 1/|[|#38 » AQY7 2HW3 140 Mean: 3HW-1 50 20 1
v J86 3CN-2-200 -30 2SW-1 100 40 4 v 843 2HW2 -110  -30 2HW-1 50 20 6
*QJ Dif: 90 NS:-2 2SW2 110 20 6 + 9865 Dif: -30 NS:-3 2HW2 110 20 6
& AKJ97 IMP: 3 EW:5 2SW3 140 3.0 1 & K6 IMP: -1 EW:2 2HW3 140 3.0 1
& AKT93 & 542 2SE3 140 3.0 1 » K6 & JT53
v A4 + v Q952 3CN-2 200 5.0 1 ||e AT7652 v K
¢ 7632 ¢ AT * AQ ¢ J432
» 32 S & QT84 » 942 » QJ83
®eVPN L Q6 ®OVEeN o842
N 121~1 «KT73 N ~~~~~ v QJ9
S 121 ~1 ¢K9854 S ~~~~~ * KT7
E ~~~1~ a65 E 2~11~ &AT75
~~~1~ 2111~
#9 & 972 4DN-1-50 Mean: 3NS5 460 100 1 |[|# 10 » AQT86 3NS-2-200 Mean: 4SN4 620 4.0 2
v AQ3 4DN-2 100 30  3NS3 400 9.0 1 v 62 A 490  4HS5 650 4.0 1
o K8742 Dif: 50 NS:-2 4SE-2 200 50 1 ¢ AK84 Dif: 0 NS:-12 4HS4 620 4.0 7
» T4 IMP: 2 EW:4 3SE-1 100 20 2 » Q4 IMP: 0 EW:0 3NS3 600 3.0 1
D) & AJT86543 4DN-1 50 20 3 [|a 42 # J753 A 00 1
v KT42 v J5 5DN-2 100 40 2 ||v Q974 _I_ vJ 3NS-2 200 120 2
¢ JT9 ¢ 65 4HN-2 100 40 1 ||e Q3 * J652
& AJ9763 & 8 4DN-2 100 40 2 ||& 98762 & AT53
PEVEN ,KQ 5DN-3 150 5.0 1 PEVEN 4 KO
N ~31~4 9876 N ~4 454 » AKT853
S 132~3 ¢AQ3 S ~4454 o797
E ~~~2~ &KQ52 E ~~~~~ & KJ
~ o~ o~ 2 ~ W~ e~~~




019FE = g > FMHERE 2B & = RT

#1: 7 ANTSRE©93.8) #2: 14 % F(93.69) #3: 5 B 1(86.54)

5 NS: EFB BEEHEE0) -3 1 0 NS: Bz KR (BAC) -6 VP:| 12.83 : 7.17 Total VP: 86.54 Rank:
EW: F8E2 iRE&AEAC) 6 EW: &#i/NR B&F(FR0) 3 IMP:| 26 18 3
-
# a6 3NW3 -400 Mean: 5CE-1 50 90 1 |[# 2 Iy 5CN-1-100 Mean: 4CN4 130 50 2
v KT9 3NW4 -430 -370 4CE4 130 6.0 1 v 93 5CXN-2-500 -60 3CN4 130 50 1
¢ QJT7642 Dif: 30 NS:-1  3NW3 400 1.0 4 ¢ J74 Dif: 400 NS:-1 4SE-1 50 30 4
» 97 IMP: 1 EW:2 3NW4 430 20 3 & AJT76532 IMP: 9 EW:10 3DW-1 50 30 1
» QJ83 & A9 3NW6 -490 3.0 1 ||as A765 & KQ984 5CN-1 4100 1.0 3
v A2 v J875 3NW5 460 3.0 4 ||e AQ72 I v J86 5CXN-1 200 -40 1
+ K983 *5 + QT9 ¢+ 8632 5CXN-2 -500 -10.0 2
& AKJ & QT6542 » Q8 » K
® OV ®N LKT7542 POVEN 4 JT32
N ~1~~~ v Q643 N 4 ~~~~ v KT54
S ~1~~~ ¢A S 4~~~~ ¢AK5
E 5~214 483 E ~213~ 9%
5~114 ~223~
# 3 » J93 2SS3 140 Mean: 2DXW-1 200 40 1 ||# 4 s Ab 4HW-1100 Mean: 3CE-2 200 8.0 1
v A876 1NS190 60 2883 140 20 2 v QJ3 2CE3 110 -120  4HW-1 100 60 3
¢T3 Dif: 50 NS:2 2SS2 110 20 1 ¢ K962 Dif: 210 NS:6 3CE-1 100 6.0 1
& AKT7 IMP: 2 EW:-1 1NS2 120 20 1 & KT54 IMP: 5 EW:0 2CE2 90 1.0 2
a7 » AB654 3CW-1 100 1.0 1 ||a JT42 a Q9 2CE3 4110 0.0 2
v QT4 v J52 2DW-1 100 1.0 1 ||e KT952 + v A84 3HW4 470 20 1
+ AKQJ8 *2 2CW-1 100 1.0 2 ||e A54 ¢ QJ 3DN-3 300 -5.0 1
» Q543 & 9862 1NS1 90 10 1 ||a8 & AQ9762 2SS-3 300 -5.0 1
PV PN L,KQT2 3NS-1 50 3.0 1 ®¢V PN , K8753 4HW4 620 -11.0 2
N ~1121 ¢K93 2HN-1 50 30 1IN ~1~~~ #76
S ~1121 97654 2DS-1 -50 3.0 1 S ~1~~~ ¢T873
E ~~~~~ aJ 4HN-3 450 50 1[|]E 2~322 &J3
1~~=~~ 2~322
#5 I 4HS4 620 Mean: 4SXE-4 800 60 1 ||# 6 » KQ8 5DE-1 100 Mean: 5DE-1 100 50 1
v KT9743 4HN4 620 550  4HS4 620 20 4 v 6542 2NW4 -180 -100  2SS-1 -50 20 2
¢ KT93 Dif: 0 NS:2 4HN4 620 20 7 ¢ 62 Dif: 280 NS:5 3CE3 110 0.0 2
aT72 IMP: 0 EW:-2 4SXE-2 300 6.0 1 » J862 IMP: 7 EW:2 28S-2 100 0.0 2
A JT9 » Q8754 3NS-2 200 -13.0 1 ||a J964 aT 2NW2 120 1.0 2
v 62 v AQ v 83 — v AQT7 3DW5 150 2.0 1
+ A65 ¢ J87 + AQT9 ¢ 7543 3DE5 150 20 1
» J8643 & Q95 & ATS & KQ97 28S-3 150 2.0 2
PV PN 4 AKG32 PEVEN 4 A7532 2NW4 180 20 1
N 14411 »J85 N ~~~~ ~ v KJ9
S 14411 ¢Q42 S ~~~~~ * KJ8
E ~~~~~ » AK E 35213 %43
~~~~~ 35213
#7 a J87 28W2'-110 Mean: 3sw-2 200 60 1/|[|#38 » AQY7 2HW-150 Mean: 3HW-1 50 20 1
v J86 2SW-1100 -30  2SW-1 100 40 4 v 843 3HW-150 -30  2HW-1 50 20 6
*QJ Dif: 210 NS:-2 2SW2 110 20 6 + 9865 Dif: 0 NS:2 2HW2 110 20 6
& AKJ97 IMP: -5 EW:-4 2SW3 140 3.0 1 & K6 IMP: 0 EW:-2 2HW3 140 3.0 1
& AKT93 & 542 2SE3 140 3.0 1 » K6 & JT53
v A4 + v Q952 3CN-2 200 5.0 1 ||e AT7652 v K
¢ 7632 ¢ AT ¢ AQ ¢ J432
» 32 S & QT84 » 942 » QJ83
®eVPN L Q6 ®OVEeN o842
N 121~1 «KT73 N ~~~~~ v QJ9
S 121 ~1 ¢K9854 S ~~~~~ * KT7
E ~~~1~ a65 E 2~11~ &AT75
~~~1~ 2111~
#9 & 972 4DN-2 -100 Mean: 3NS5 460 100 1 |[|# 10 » AQT86 3NS-2-200 Mean: 4SN4 620 4.0 2
v AQ3 5DN-3-150 30  3NS3 400 9.0 1 v 62 4HS4 620 490  4HS5 650 4.0 1
o K8742 Dif: 50 NS:-4 4SE-2 200 50 1 ¢ AK84 Dif: -820 NS:-12 4HS4 620 4.0 7
» T4 IMP: 2 EW:5 3SE-1 100 20 2 » Q4 IMP: -13 EW:-4 3NS3 600 3.0 1
D) & AJT86543 4DN-1 50 20 3 [|a 42 # J753 A 00 1
v KT42 v J5 5DN-2 100 40 2 ||e Q974 _I_ vJ 3NS-2 200 120 2
¢ JT9 ¢ 65 4HN-2 100 40 1 ||e Q3 * J652
& AJ9763 & 8 4DN-2 100 40 2 ||& 98762 & AT53
PEVEN ,KQ 5DN-3 150 5.0 1 PEVEN 4 KO
N ~31~4 9876 N ~4 454 » AKT853
S 132~3 ¢AQ3 S ~4454 o797
E ~~~2~ &KQ52 E ~~~~~ & KJ
~ o~ o~ 2 ~ W~ e~~~




X AN >\ 4 —_—
7 2019 2 2 RIBERE 2B 2 == RT 7
L} \J
#1: 7 A THFE93.8) #2: 14 R F(93.69) #3: 5 Bl 1£(86.54)
6 NS: SRR HEREGEHO) 5 11 NS: % fH %2 K (FC) -22 VP:| 16.97 : 3.03 Total VP: 77.59 Rank:
EW: Si3¥/K BREMB(C) 22 EW: BT SRECR(3I0) -5 IMP:| 27 : 2 5
-
# 1 Py 3NWS5 -460 Mean: 5CE-1 50 90 1 ||# 2 Iy 3CN4 130 Mean: 4CN4 130 50 2
v KT9 3NW3 -400 -370 4CE4 130 6.0 1 v 93 5CXN-1-200 -60  3CN4 130 50 1
¢ QJT7642 Dif: -60 NS:-3 3NW3 400 1.0 4 ¢ J74 Dif: 330 NS:5 4SE-1 50 30 4
» 97 IMP: -2 EW:1 3NW4 430 20 3 & AJT76532 IMP: 8 EW:4 3DW-1 50 30 1
» QJ83 & A9 3NW6 -490 3.0 1 ||as A765 & KQ984 5CN-1 4100 1.0 3
v A2 v J875 3NW5 460 3.0 4 ||e AQ72 I v J86 5CXN-1 200 -40 1
+ K983 *5 + QT9 ¢+ 8632 5CXN-2 -500 -10.0 2
& AKJ & QT6542 » Q8 » K
® OV ®N LKT7542 POVEN 4 JT32
N ~1~~~ v Q643 N 4 ~~~~ v KT54
S ~1~~~ ¢A S 4~~~~ ¢AK5
E 5~214 483 E ~213~ 9%
5~114 ~223~
# 3 » J93 2HN-1-50 Mean: 2DXW-1 200 40 1 ||# 4 s Ab 3DN-3 -300 Mean: 3CE-2 200 8.0 1
v A876 3NS-1-50 60  2SS3 140 20 2 v QJ3 4HW4 -620 -120  4HW-1 100 60 3
¢T3 Dif: 0 NS:-3 2SS2 110 20 1 ¢ K962 Dif: 320 NS:-5 3CE-1 100 6.0 1
& AKT7 IMP: 0 EW:3 1NS2 120 20 1 & KT54 IMP: 8 EW:11 2CE2 90 1.0 2
a7 » AB654 3CW-1 100 1.0 1 ||a JT42 a Q9 2CE3 4110 0.0 2
v QT4 v J52 2DW-1 100 1.0 1 ||e KT952 _I_ v A84 3HW4 470 20 1
+ AKQJ8 *2 2CW-1 100 1.0 2 ||e A54 *QJ 3DN-3 300 -5.0 1
» Q543 & 9862 1NS1 90 10 1 ||a8 & AQ9762 2SS-3 300 -5.0 1
®EVE®N L KQT2 3NS-1 50 3.0 1 ®¢V PN , K8753 4HW4 620 -11.0 2
N ~1121 ¢K93 2HN-1 50 30 1IN ~1~~~ #76
S ~1121 97654 2DS-1 -50 3.0 1 S ~1~~~ ¢T873
E ~~~~~ aJ 4HN-3 450 50 1[|]E 2~322 &J3
1~~=~~ 2~322
#5 I 4HS4 620 Mean: 4SXE-4 800 60 1 ||# 6 » KQ8 2NW2 -120 Mean: 5DE-1 100 50 1
v KT9743 4HN4 620 550  4HS4 620 20 4 v 6542 2NW2 -120 -100 2SS-1 -50 20 2
¢ KT93 Dif: 0 NS:2 4HN4 620 20 7 ¢ 62 Dif: 0 NS:-1 3CE3 110 0.0 2
aT72 IMP: 0 EW:-2 4SXE-2 300 6.0 1 » J862 IMP: 0 EW:1 2SS-2 100 0.0 2
A JT9 » Q8754 3NS-2 200 -13.0 1 ||a J964 aT 2NW2 120 1.0 2
v 62 v AQ v 83 — v AQT7 3DW5 150 2.0 1
+ A65 ¢ J87 + AQT9 ¢ 7543 3DE5 150 20 1
» J8643 & Q95 & ATS & KQ97 28S-3 150 2.0 2
PV PN 4 AKG32 PEVEN 4 A7532 2NW4 180 20 1
N 14411 »J85 N ~~~~~ v KJ9
S 14411 ¢Q42 S ~~~~~ * KJ8
E ~~~~~ » AK E 35213 #43
~~~~~ 35213
#7 a J87 28W2-110 Mean: 3sw-2 200 60 1/|[|#38 » AQY7 2HW2 -110° Mean: 3HW-1 50 20 1
v J86 2SW2-110 -30  2SW-1 100 40 4 v 843 2HW2 110 -30  2HW-1 50 20 6
*QJ Dif: 0 NS:-2 2SwW2 110 20 6 + 9865 Dif: 0 NS:-2 2HW2 110 20 6
& AKJ97 IMP: 0 EW:2 2SW3 140 3.0 1 & K6 IMP: 0 EW:2 2HW3 140 3.0 1
& AKT93 & 542 2SE3 140 3.0 1 » K6 & JT53
v A4 + v Q952 3CN-2 200 5.0 1 ||e AT7652 v K
¢ 7632 ¢ AT * AQ ¢ J432
» 32 S & QT84 » 942 » QJ83
®eVPN L Q6 ®OVEeN o842
N 121~1 «KT73 N ~~~~~ v QJ9
S 121 ~1 ¢KOo854 S ~~~~~ * KT7
E ~~~1~ a65 E 2~11~ &AT75
~~~1~ 2111~
#9 & 972 3NS5460 Mean: 3NS5 460 100 1 |[|# 10 » AQT86 4SN4 620 Mean: 4SN4 620 4.0 2
v AQ3 4HN-2 100 30  3NS3 400 9.0 1 v 62 4HS4 620 490  4HS5 650 4.0 1
o K8742 Dif: 560 NS:10 4SE-2 200 50 1 ¢ AK84 Dif: 0 NS:4 4HS4 620 4.0 7
» T4 IMP: 11 EW:4 3SE-1 100 20 2 » Q4 IMP: 0 EW:-4 3NS3 600 3.0 1
D) & AJT86543 4DN-1 50 20 3 [|a 42 # J753 A 00 1
v KT42 v J5 5DN-2 100 40 2 ||v Q974 _I_ vJ 3NS-2 200 120 2
¢ JT9 ¢ 65 4HN-2 100 40 1 ||e Q3 * J652
& AJ9763 & 8 4DN-2 100 40 2 ||& 98762 & AT53
PEVEN ,KQ 5DN-3 150 5.0 1 PEVEN 4 KO
N ~31~4 9876 N ~4 454 » AKT853
S 132~3 ¢AQ3 S ~4454 o797
E ~~~2~ &KQ52 E ~~~~~ & KJ
~ o~ o~ 2 ~ W~ e~~~




019FE = g > FMHERE 2B & = RT

#1: 7 ANTSRE©93.8) #2: 14 % F(93.69) #3: 5 B 1(86.54)

7 NS: 485 BEEHHEAC) 23 1 NS: {528 $iHESE(BHO) 1 VP:| 16.18 : 3.82 Total VP: 93.80 Rank:
EW: S8 ERMEEH0) -1 EW: HR851 AL (FC) -2 IMP:| 24 : 3 1
-
# a6 3NW3 400 Mean: 5CE-1 50 90 1 |[# 2 Iy 5CN-1100 Mean: 4CN4 130 50 2
v KT9 4CE4 130 -370 4CE4 130 6.0 1 v 93 4CN4 130 -60  3CN4 130 50 1
¢ QJT7642 Dif: 270 NS:6  3NW3 400 1.0 4 ¢ J74 Dif: 230 NS:5 4SE-1 50 30 4
» 97 IMP: 7 EW:1 3NW4 430 20 3 & AJT76532 IMP: 6 EW:1  3DW-1 50 30 1
» QJ83 & A9 3NW6 -490 3.0 1 ||as A765 & KQ984 5CN-1 4100 1.0 3
v A2 v J875 3NW5 460 3.0 4 ||e AQ72 I v J86 5CXN-1 200 -40 1
* K983 *5 * QT9 * 8632 5CXN-2  -500 -10.0 2
» AKJ & QT6542 » Q8 » K
POV PN ,KT7542 PEVEN 4 JT32
N ~1~~~ v Q643 N 4 ~~~~ v KT54
S ~1~~~ ¢A S 4~~~~ ¢AK5
E 5~214 483 E ~213~ 9%
5~114 ~223~
# 3 » J93 2DXW-1 -200 Mean: 2DXW-1 200 40 1 ||# 4 s Ab 2SS-3300 Mean: 3CE-2 200 8.0 1
v A876 2CW-1-100 60 2883 140 20 2 v QJ3 2CE290 -120 4HW-1 100 60 3
¢T3 Dif: 100 NS:1  2SS2 110 20 1 ¢ K962 Dif: 210 NS:1  3CE-1 100 6.0 1
& AKT7 IMP: -3 EW:-4 1NS2 120 20 1 & KT54 IMP: 5 EW:5 2CE2 90 1.0 2
a7 » AB654 3CW-1 100 1.0 1 ||a JT42 a Q9 2CE3 4110 0.0 2
v QT4 v J52 2DW-1 100 1.0 1 ||e KT952 + v A84 3HW4 470 20 1
* AKQJ8 *2 2CW-1 100 1.0 2 ||e A54 *QJ 3DN-3 300 -5.0 1
» Q543 & 9862 1NS1 90 10 1 ||a8 & AQ9762 2SS-3 300 -5.0 1
®EVE®N L KQT2 3NS-1 50 3.0 1 ®¢V PN , K8753 4HW4 620 -11.0 2
N ~1121 ¢K93 2HN-1 50 30 1IN ~1~~~ #76
S ~1121 97654 2DS-1 -50 3.0 1 S ~1~~~ ¢T873
E ~~~~~ aJ 4HN-3 450 50 1[|]E 2~322 &J3
1~~=~~ 2~322
#5 I 4HS4 -620 Mean: 4SXE-4 800 60 1 ||# 6 » KQ8 3CE3 110 Mean: 5DE-1 100 50 1
v KT9743 4HN4 -620 550  4HS4 620 20 4 v 6542 2SS-150 -100 2SS-1 -50 20 2
¢ KT93 Dif: 0 NS:2 4HN4 620 20 7 ¢ 62 Dif: 60 NS:2 3CE3 110 0.0 2
aT72 IMP: 0 EW:-2 4SXE-2 300 6.0 1 » J862 IMP: 2 EW:-0 2SS-2 100 0.0 2
A JT9 » Q8754 3NS-2 200 -13.0 1 ||a J964 aT 2NW2 120 1.0 2
v 62 v AQ v 83 — v AQT7 3DW5 150 2.0 1
+ A65 ¢ J87 + AQT9 ¢ 7543 3DE5 150 20 1
» J8643 & Q95 & AT5 & KQ97 28S-3 150 2.0 2
PV PN 4 AKG32 PEVEN 4 A7532 2NW4 180 20 1
N 14411 »J85 N ~~~~ ~ v KJ9
S 14411 ¢Q42 S ~~~~~ + KJ8
E ~~~~~ » AK E 35213 %43
~~~~~ 35213
#7 a J87 28W2110° Mean: 3sw-2 200 60 1||# 8 » AQ97 2HW-1 -50 Mean: 3HW-1 50 20 1
v J86 2SW2110 -30  2SW-1 100 40 4 v 843 2HW-1-50 -30  2HW-1 50 20 6
*QJ Dif: 0 NS:-2 2SW2 110 20 6 + 9865 Dif: 0 NS:2 2HW2 110 20 6
& AKJ97 IMP: 0 EW:2 2SW3 140 3.0 1 & K6 IMP: 0 EW:-2 2HW3 140 3.0 1
& AKT93 & 542 2SE3 140 3.0 1 » K6 & JT53
v A4 + v Q952 3CN-2 200 5.0 1 ||e AT7652 v K
¢ 7632 ¢ AT * AQ ¢ J432
» 32 S & QT84 a 942 » QJ83
®eVPN L Q6 ®OVEeN o842
N 121~1 «KT73 N ~~~~~ v QJ9
S 121 ~1 ¢KOo854 S ~~~~~ * KT7
E ~~~1~ a65 E 2~11~ &AT75
~~~1~ 2111~
#9 a 972 4DN-1 50 Mean: 3NS5 460 100 1 [[|# 10 » AQT86 4SN4 -620 Mean: 4SN4 620 40 2
v AQ3 3SE-1-100 30  3NS3 400 9.0 1 v 62 4HS4 -620 490  4HS5 650 4.0 1
o K8742 Dif: 150 NS:2 4SE-2 200 50 1 ¢ AK84 Dif: 0 NS:4 4HS4 620 4.0 7
» T4 IMP: 4 EW:2 3SE-1 100 20 2 » Q4 IMP: 0 EW:-4 3NS3 600 3.0 1
D) & AJT86543 4DN-1 50 20 3 [|a 42 # J753 A 00 1
v KT42 v J5 5DN-2 100 40 2 ||v Q974 _I_ vJ 3NS-2 200 120 2
¢ JT9 ¢ 65 4HN-2 100 40 1 ||e Q3 * J652
& AJ9763 & 8 4DN-2 100 40 2 ||& 98762 & AT53
PEVEN ,KQ 5DN-3 150 5.0 1 PEVEN 4 KO
N ~31~4 9876 N ~4 454 » AKT853
S 132~3 ¢AQ3 S ~4454 o797
E ~~~2~ &KQ52 E ~~~~~ & KJ
~ o~ o~ 2 ~ W~ e~~~




X AN >\ 4 —_—
7 2019 2 2 RIBERE 2B 2 == RT 7
L} \J
#1: 7 A THFE93.8) #2: 14 R F(93.69) #3: 5 Bl 1£(86.54)
8 NS: #EEHE H4E7(3E0) 29 13 NS: FEzHYL BB E (BAC) -2 VP:| 17.84 : 2.16 Total VP: 61.66 Rank:
EW: JB#REE R IT(EHC) 2 EW: Bi#EAN B9 (FFO) -2 IMP:| 37 : 7 12
— —
# 1 a6 5CE-1 50 Mean: 5CE-1 50 90 1 ||# 2 Iy 4SE-1 50 Mean: 4CN4 130 50 2
v KT9 3NW5 -460 -370 4CE4 130 6.0 1 v 93 4CN4 130 -60  3CN4 130 50 1
¢ QJT7642 Dif: 510 NS:9 3NW3 400 1.0 4 ¢ J74 Dif: -80 NS:3 4SE-1 50 30 4
» 97 IMP: 11 EW:3 3NW4 430 20 3 & AJT76532 IMP: -2 EW:-5 3DW-1 50 30 1
» QJ83 & A9 3NW6 -490 3.0 1 ||as A765 & KQ984 5CN-1 4100 1.0 3
v A2 v J875 3NW5 460 3.0 4 ||e AQ72 I v J86 5CXN-1 200 -40 1
+ K983 *5 + QT9 ¢+ 8632 5CXN-2 -500 -10.0 2
& AKJ & QT6542 » Q8 » K
T OV PN AKI7542 POVEN 4 JT32
N ~1~~~ v Q643 N 4 ~~~~ v KT54
S ~1~~~ ¢A S 4~~~~ ¢AK5
E 5~214 483 E ~213~ 9%
5~114 ~223~
# 3 » J93 2DW-1 100 Mean: 2DXW-1 200 40 1 ||# 4 s Ab 3CE-1100 Mean: 3CE-2 200 8.0 1
v A876 4HN-3 150 60  2SS3 140 20 2 v QJ3 4HW-1100 -120  4HW-1 100 60 3
¢T3 Dif: 250 NS:1 2SS2 110 20 1 ¢ K962 Dif: 0 NS:6 3CE-1 100 6.0 1
& AKT7 IMP: 6 EW:5 1NS2 120 20 1 & KT54 IMP: 0 EW:-6 2CE2 90 1.0 2
a7 » AB654 3CW-1 100 1.0 1 ||a JT42 a Q9 2CE3 4110 0.0 2
v QT4 v J52 2DW-1 100 1.0 1 ||e KT952 _I_ v A84 3HW4 470 20 1
+ AKQJ8 *2 2CW-1 100 1.0 2 ||e A54 ¢ QJ 3DN-3 300 -5.0 1
» Q543 & 9862 1NS1 90 10 1 ||a8 & AQ9762 2SS-3 300 -5.0 1
PV PN L,KQT2 3NS-1 50 3.0 1 ®¢V PN , K8753 4HW4 620 -11.0 2
N ~1121 ¢K93 2HN-1 50 30 1IN ~1~~~ #76
S ~1121 97654 2DS-1 -50 3.0 1 S ~1~~~ ¢T873
E ~~~~~ aJ 4HN-3 450 50 1[|]E 2~322 &J3
1~~=~~ 2~322
#5 I 4HN4 620 Mean: 4SXE-4 800 60 1 ||# 6 » KQ8 2SS-1-50 Mean: 5DE-1 100 50 1
v KT9743 4SXE-2 300 550 4HS4 620 20 4 v 6542 2SS-2-100 -100  2SS-1 -50 20 2
¢ KT93 Dif: 320 NS:2 4HN4 620 20 7 ¢ 62 Dif: 50 NS:2 3CE3 110 0.0 2
aT72 IMP: 8 EW:6 4SXE-2 300 6.0 1 » J862 IMP: 2 EW:0 2SS-2 100 0.0 2
A JT9 » Q8754 3NS-2 200 -13.0 1 ||a J964 aT 2NW2 120 1.0 2
v 62 v AQ v 83 — v AQT7 3DW5 150 2.0 1
+ A65 ¢ J87 + AQT9 ¢ 7543 3DE5 150 20 1
» J8643 & Q95 & ATS & KQ97 28S-3 150 2.0 2
PV PN 4 AKG32 PEVEN 4 A7532 2NW4 180 20 1
N 14411 »J85 N ~~~~~ v KJ9
S 14411 ¢Q42 S ~~~~~ * KJ8
E ~~~~~ » AK E 35213 #43
~~~~~ 35213
#7 a J87 28W-1100 Mean: 3sw-2 200 60 1/|[|#38 » AQY7 2HW-150 Mean: 3HW-1 50 20 1
v J86 2SW3 -140 -30 2SW-1 100 40 4 v 843 2HW2 -110  -30 2HW-1 50 20 6
*QJ Dif: 240 NS:4 2SW2 110 20 6 + 9865 Dif: 160 NS:2 2HW2 110 20 6
& AKJ97 IMP: 6 EW:3 2SW3 140 3.0 1 & K6 IMP: 4 EW:2 2HW3 140 3.0 1
& AKT93 & 542 2SE3 140 3.0 1 » K6 & JT53
v A4 + v Q952 3CN-2 200 5.0 1 ||e AT7652 v K
¢ 7632 ¢ AT * AQ ¢ J432
» 32 S & QT84 » 942 » QJ83
®eVPN L Q6 ®OVEeN o842
N 121~1 «KT73 N ~~~~~ v QJ9
S 121 ~1 ¢KOo854 S ~~~~~ * KT7
E ~~~1~ a65 E 2~11~ &AT75
~~~1~ 2111~
#9 & 972 5DN-2 -100 Mean: 3NS5 460 100 1 |[|# 10 » AQT86 4HS4 620 Mean: 4SN4 620 4.0 2
v AQ3 3SE-1100 30  3NS3 400 9.0 1 v 62 4HS4 620 490  4HS5 650 4.0 1
o K8742 Dif: 200 NS:-4 4SE-2 200 50 1 ¢ AK84 Dif: 0 NS:4 4HS4 620 4.0 7
» T4 IMP: -5 EW:-2 3SE-1 100 20 2 » Q4 IMP: 0 EW:-4 3NS3 600 3.0 1
D) & AJT86543 4DN-1 50 20 3 [|a 42 # J753 A 00 1
v KT42 v J5 5DN-2 100 40 2 ||e Q974 _I_ vJ 3NS-2 200 120 2
¢ JT9 ¢ 65 4HN-2 100 40 1 ||e Q3 * J652
& AJ9763 & 8 4DN-2 100 40 2 ||& 98762 & AT53
PEVEN ,KQ 5DN-3 150 5.0 1 PEVEN 4 KO
N ~31~4 9876 N ~4 454 » AKT853
S 132~3 ¢AQ3 S ~4454 o797
E ~~~2~ &KQ52 E ~~~~~ & KJ
~ o~ o~ 2 ~ W~ e~~~




X AN >\ 4 —_—
7 2019 2 2 RIBERE 2B 2 == RT 7
L} \J
#1: 7 A THFE93.8) #2: 14 R F(93.69) #3: 5 Bl 1£(86.54)
9 NS: [BEE 8 #£E0) -1 3 NS: Bz A EEE(BEO) 14] VP:| 7.49 12.51| Total VP: 67.50 Rank:
EW: BRE%E B JE(HO) -14 EW: $3CEH 35827 (FC) 1 IMP:| 17 24 10
#1 a6 3NW4 430 Mean: 5CE-1 50 9.0 1 |[|# 2 Iy 3DW-1-50 Mean: 4CN4 130 50 2
v KT9 3NW5 460 -370 4CE4 130 6.0 1 v 93 4SE-1-50 -60 3CN4 130 50 1
¢ QJT7642 Dif: -30 NS:-3 3NW3 400 1.0 4 ¢ J74 Dif: 0 NS:3 4SE-1 50 30 4
» 97 IMP: -1 EW:2 3NW4 430 20 3 & AJT76532 IMP: 0 EW:-3 3DW-1 50 30 1
» QJ83 & A9 3NW6 -490 3.0 1 ||as A765 & KQ984 5CN-1 4100 1.0 3
v A2 v J875 3NW5 460 3.0 4 ||e AQ72 I v J86 5CXN-1 200 -40 1
+ K983 *5 + QT9 ¢+ 8632 5CXN-2 -500 -10.0 2
» AKJ & QT6542 » Q8 » K
POV PN ,KT7542 PEVEN 4 JT32
N ~1~~~ »Q643 N 4 ~~~~ o KT54
S ~1~~~ ¢A S 4~~~~ ¢AK5
E 5~214 83 E ~213~ #9%
5~114 ~223~
# 3 » J93 2DS-150 Mean: 2DXW-1 200 40 1 ||# 4 s Ab 3CE-2-200 Mean: 3CE-2 200 8.0 1
v A876 2SS3 -140 60 2883 140 20 2 v QJ3 4HW4 620 -120  4HW-1 100 60 3
¢T3 Dif: 190 NS:2 2SS2 110 20 1 ¢ K962 Dif: -820 NS:-11 3CE-1 100 6.0 1
& AKT7 IMP: 5 EW:3 1NS2 120 20 1 & KT54 IMP: -13 EW:-8 2CE2 90 1.0 2
a7 » AB654 3CW-1 100 1.0 1 ||a JT42 a Q9 2CE3 4110 0.0 2
v QT4 v J52 2DW-1 100 1.0 1 ||e KT952 _I_ v A84 3HW4 470 20 1
* AKQJ8 *2 2CW-1 100 1.0 2 ||e A54 *QJ 3DN-3 300 -5.0 1
» Q543 & 9862 1NS1 90 10 1 ||a8 & AQ9762 2SS-3 300 -5.0 1
®EVE®N L KQT2 3NS-1 50 3.0 1 ®¢V PN , K8753 4HW4 620 -11.0 2
N ~1121 ¢K93 2HN-1 50 30 1IN ~1~~~ #76
S ~1121 97654 2DS-1 -50 3.0 1 S ~1~~~ ¢T873
E ~~~~~ aJ 4HN-3 450 50 1[|]E 2~322 &J3
1~~=~~ 2~322
#5 I 4HN4 -620 Mean: 4SXE-4 800 60 1 ||# 6 » KQ8 2SS-3150 Mean: 5DE-1 100 50 1
v KT9743 4SXE-4 -800 550  4HS4 620 20 4 v 6542 3DW5 150 -100  2SS-1 50 20 2
¢ KT93 Dif: 180 NS:6 4HN4 620 20 7 ¢ 62 Dif: 0 NS:-2 3CE3 110 0.0 2
aT72 IMP: 5 EW:-2 4SXE-2 300 6.0 1 » J862 IMP: 0 EW:2 2SS-2 100 0.0 2
A JT9 » Q8754 3NS-2 200 -13.0 1 ||a J964 aT 2NW2 120 1.0 2
v 62 v AQ v 83 — v AQT7 3DW5 150 2.0 1
+ A65 ¢ J87 + AQT9 ¢ 7543 3DE5 150 20 1
» J8643 & Q95 & ATS & KQ97 28S-3 150 2.0 2
PV PN 4 AKG32 PEVEN 4 A7532 2NW4 180 20 1
N 14411 »J85 N ~~~~~ v KJ9
S 14411 Q42 S ~~~~~ « KJ8
E ~~~~ ~ » AK E 35213 #43
~~~~~ 35213
#7 a J87 2SE3 140 Mean: 3SW-2 200 60 1||# 8 » AQ97 2HW2 110 Mean: 3HW-1 50 20 1
v J86 2SW-1-100 -30  2SW-1 100 40 4 v 843 2HW2 110 -30  2HW-1 50 20 6
*QJ Dif: 240 NS:4 2SW2 110 20 6 + 9865 Dif: 0 NS:-2 2HW2 110 20 6
& AKJ97 IMP: 6 EW:3 2SW3 140 3.0 1 & K6 IMP: 0 EW:2 2HW3 140 3.0 1
& AKT93 & 542 2SE3 140 3.0 1 » K6 & JT53
v A4 + v Q952 3CN-2 200 5.0 1 ||e AT7652 v K
¢ 7632 ¢ AT ¢ AQ ¢ J432
a 32 S + QT84 & 942 & QJ83
®eVPN L Q6 ®OVEeN o842
N 121~1 »KT73 N ~~~~~ v QJ9
S 121 ~1 ¢K9854 S ~~~~~ * KT7
E ~~~1~ a65 E 2~11~ &AT75
~~=1~ 2111~
#9 s 972 3NS3-400 Mean: 3NS5 460 100 1 |[|# 10 » AQT86 4HS4 -620 Mean: 4SN4 620 4.0 2
v AQ3 4DN-150 30  3NS3 400 9.0 1 v 62 4HS5 -650 490  4HS5 650 4.0 1
o K8742 Dif: -450 NS:-2 4SE-2 200 50 1 + AK84 Dif: 30 NS:4 4HS4 620 4.0 7
» T4 IMP: -10 EW:-9 3SE-1 100 20 2 » Q4 IMP: 1 EW:-4 3NS3 600 3.0 1
D) & AJT86543 4DN-1 50 20 3 [|a 42 # J753 A 00 1
v KT42 v J5 5DN-2 100 40 2 ||e Q974 _I_ vJ 3NS-2 200 120 2
¢ JT9 ¢ 65 4HN-2 100 40 1||e Q3 ¢ J652
& AJ9763 & 8 4DN-2 100 40 2 ||& 98762 & AT53
PEVEN ,KQ 5DN-3 150 5.0 1 PEVEN 4 KO
N ~31~4 9876 N ~4 454 » AKT853
S 132~3 ¢AQ3 S ~4454 o797
E ~~~2~ &KQ52 E ~~~~~ & KJ
~ o~ o~ 2 ~ W~ e~~~




X AN >\ 4 —_—
7 2019 2 2 RIBERE 2B 2 == RT 7
L} \J
#1: 7 A THFE93.8) #2: 14 R F(93.69) #3: 5 Bl 1£(86.54)
1 O NS: B 2R EFEIC) -6 5 NS: §5# BEE T (BH0) -3 VP:| 7.17 12.83| Total VP: 70.81 Rank:
EW: #/MNR B4 T(BH0) 3 EW: T4t SRER (FAC) 6 IMP:| 18 26 8
-
# a6 3NW3 400 Mean: 5CE-1 50 90 1 |[# 2 Iy 5CN-1100 Mean: 4CN4 130 50 2
v KT9 3NW4 430 -370 4CE4 130 6.0 1 v 93 5CXN-2500 -60  3CN4 130 50 1
¢ QJT7642 Dif: -30 NS:-2 3NW3 400 1.0 4 ¢ J74 Dif: -400 NS:-10 4SE-1 50 30 4
» 97 IMP: -1 EW:1 3NW4 430 20 3 & AJT76532 IMP: -9 EW:1  3DW-1 50 30 1
» QJ83 & A9 3NW6 -490 3.0 1 ||as A765 & KQ984 5CN-1 4100 1.0 3
v A2 v J875 3NW5 460 3.0 4 ||e AQ72 I v J86 5CXN-1 200 -40 1
+ K983 *5 + QT9 ¢+ 8632 5CXN-2 -500 -10.0 2
& AKJ & QT6542 » Q8 » K
T OV PN AKI7542 POVEN 4 JT32
N ~1~~~ v Q643 N 4 ~~~~ v KT54
S ~1~~~ ¢A S 4~~~~ ¢AK5
E 5~214 483 E ~213~ 9%
5~114 ~223~
# 3 » J93 2SS3 -140 Mean: 2DXW-1 200 40 1 |[|# 4 s Ab 4HW-1-100 Mean: 3CE-2 200 8.0 1
v A876 1NS1-90 60 2883 140 20 2 v QJ3 2CE3110 -120 4HW-1 100 60 3
¢T3 Dif: -50 NS:1 2SS2 110 20 1 ¢ K962 Dif: 210 NS:-0 3CE-1 100 6.0 1
& AKT7 IMP: -2 EW:-2 1NS2 120 20 1 & KT54 IMP: -5 EW:-6 2CE2 90 1.0 2
a7 » AB654 3CW-1 100 1.0 1 ||a JT42 a Q9 2CE3 4110 0.0 2
v QT4 v J52 2DW-1 100 1.0 1 ||e KT952 + v A84 3HW4 470 20 1
+ AKQJ8 *2 2CW-1 100 1.0 2 ||e A54 ¢ QJ 3DN-3 300 -5.0 1
» Q543 & 9862 1NS1 90 10 1 ||a8 & AQ9762 2SS-3 300 -5.0 1
PV PN L,KQT2 3NS-1 50 3.0 1 ®¢V PN , K8753 4HW4 620 -11.0 2
N ~1121 ¢K93 2HN-1 50 30 1IN ~1~~~ #76
S ~1121 97654 2DS-1 -50 3.0 1 S ~1~~~ ¢T873
E ~~~~~ aJ 4HN-3 150 50 1||E 2~322 &J3
1~~=~~ 2~322
#5 I 4HS4 -620 Mean: 4SXE-4 800 60 1 ||# 6 » KQ8 5DE-1-100 Mean: 5DE-1 100 50 1
v KT9743 4HN4 -620 550  4HS4 620 20 4 v 6542 2NW4 180 -100  2SS-1 -50 20 2
¢ KT93 Dif: 0 NS:2 4HN4 620 20 7 ¢ 62 Dif: -280 NS:-2 3CE3 110 0.0 2
aT72 IMP: 0 EW:-2 4SXE-2 300 6.0 1 » J862 IMP: -7 EW:-5 2SS-2 100 0.0 2
A JT9 » Q8754 3NS-2 200 -13.0 1 ||a J964 aT 2NW2 120 1.0 2
v 62 v AQ v 83 — v AQT7 3DW5 150 2.0 1
+ A65 ¢ J87 + AQT9 ¢ 7543 3DE5 150 20 1
» J8643 & Q95 & ATS & KQ97 28S-3 150 2.0 2
PV PN 4 AKG32 PEVEN 4 A7532 2NW4 180 20 1
N 14411 »J85 N ~~~~~ v KJ9
S 14411 ¢Q42 S ~~~~~ * KJ8
E ~~~~~ » AK E 35213 #43
~~~~~ 35213
#7 a J87 28W2110° Mean: 3sw-2 200 60 1||# 8 » AQ97 2HW-1 -50 Mean: 3HW-1 50 20 1
v J86 2SW-1-100 -30  2SW-1 100 40 4 v 843 3HW-1-50 -30  2HW-1 50 20 6
*QJ Dif: 210 NS:4 2SW2 110 20 6 + 9865 Dif: 0 NS:2 2HW2 110 20 6
& AKJ97 IMP: 5 EW:2 2SW3 140 3.0 1 & K6 IMP: 0 EW:-2 2HW3 140 3.0 1
& AKT93 & 542 2SE3 140 3.0 1 » K6 & JT53
v A4 + v Q952 3CN-2 200 5.0 1 ||e AT7652 v K
¢ 7632 ¢ AT * AQ ¢ J432
» 32 S & QT84 » 942 » QJ83
®eVPN L Q6 ®OVEeN o842
N 121~1 «KT73 N ~~~~~ v QJ9
S 121 ~1 ¢K9854 S ~~~~~ * KT7
E ~~~1~ a65 E 2~11~ &AT75
~~~1~ 2111~
#9 & 972 4DN-2 100 Mean: 3NS5 460 100 1 |[|# 10 » AQT86 3NS-2200 Mean: 4SN4 620 4.0 2
v AQ3 5DN-3150 30  3NS3 400 9.0 1 v 62 4HS4 -620 490  4HS5 650 4.0 1
o K8742 Dif: -50 NS:-5 4SE-2 200 50 1 ¢ AK84 Dif: 820 NS:4 4HS4 620 4.0 7
» T4 IMP: -2 EW:4 3SE-1 100 20 2 » Q4 IMP: 13 EW:12 3NS3 600 3.0 1
D) & AJT86543 4DN-1 50 20 3 [|a 42 # J753 A 00 1
v KT42 v J5 5DN-2 100 40 2 ||e Q974 _I_ vJ 3NS-2 200 120 2
¢ JT9 ¢ 65 4HN-2 100 40 1 ||e Q3 * J652
& AJ9763 & 8 4DN-2 100 40 2 ||& 98762 & AT53
PEVEN ,KQ 5DN-3 150 5.0 1 PEVEN 4 KO
N ~31~4 9876 N ~4 454 » AKT853
S 132~3 ¢AQ3 S ~4454 o797
E ~~~2~ &KQ52 E ~~~~~ & KJ
~ o~ o~ 2 ~ W~ e~~~




X AN >\ 4 —_—
7 2019 2 2 RIBERE 2B 2 == RT 7
L} \J
#1: 7 A THFE93.8) #2: 14 R F(93.69) #3: 5 Bl 1£(86.54)
1 1 NS: & 18 ZHZREI0) -22 6 NS: 5Ri[152 FER (FHO) 5 VP:| 3.03 : 16.97| Total VP: 66.21 Rank:
EW: BELZ REZ(BEO) -5 EW: 837K SRR (BFAC) 23 IMP:| 2 27 1
-
# 1 Py 3NW5 460 Mean: 5CE-1 50 9.0 1 ||# 2 'y 3CN4 -130 Mean: 4CN4 130 50 2
v KT9 3NW3 400 -370 4CE4 130 6.0 1 v 93 5CXN-1200 -60 3CN4 130 50 1
¢ QJT7642 Dif: 60 NS:-1 3NW3 400 1.0 4 ¢ J74 Dif: -330 NS:-4 4SE-1 50 30 4
» 97 IMP: 2 EW:3 3NW4 430 20 3 & AJT76532 IMP: -8 EW:-5 3DW-1 50 30 1
» QJ83 & A9 3NW6 -490 3.0 1 ||as A765 & KQ984 5CN-1 4100 1.0 3
v A2 v J875 3NW5 460 3.0 4 ||e AQ72 I v J86 5CXN-1 200 -40 1
+ K983 *5 + QT9 ¢+ 8632 5CXN-2 -500 -10.0 2
» AKJ & QT6542 » Q8 » K
T OV PN AKI7542 POVEN 4 JT32
N ~1~~~ v Q643 N 4 ~~~~ v KT54
S ~1~~~ ¢A S 4~~~~ ¢AK5
E 5~214 483 E ~213~ 9%
5~114 ~223~
# 3 » J93 2HN-150 Mean: 2DXW-1 200 40 1 ||# 4 s Ab 3DN-3300 Mean: 3CE-2 200 8.0 1
v A876 3NS-150 60  2SS3 140 20 2 v QJ3 4HW4 620 -120  4HW-1 100 60 3
¢T3 Dif: 0 NS:-3 2SS2 110 20 1 ¢ K962 Dif: -320 NS:-11 3CE-1 100 6.0 1
& AKT7 IMP: 0 EW:3 1NS2 120 20 1 & KT54 IMP: -8 EW:5 2CE2 90 1.0 2
a7 » AB654 3CW-1 100 1.0 1 ||a JT42 a Q9 2CE3 4110 0.0 2
v QT4 v J52 2DW-1 100 1.0 1 ||e KT952 + v A84 3HW4 470 20 1
+ AKQJ8 *2 2CW-1 100 1.0 2 ||e A54 ¢ QJ 3DN-3 300 -5.0 1
» Q543 & 9862 1NS1 90 10 1 ||a8 & AQ9762 2SS-3 300 -5.0 1
®EVE®N L KQT2 3NS-1 50 3.0 1 ®¢V PN , K8753 4HW4 620 -11.0 2
N ~1121 ¢K93 2HN-1 50 30 1IN ~1~~~ #76
S ~1121 97654 2DS-1 -50 3.0 1 S ~1~~~ ¢T873
E ~~~~~ aJ 4HN-3 450 50 1[|]E 2~322 &J3
1~~=~~ 2~322
#5 I 4HS4 -620 Mean: 4SXE-4 800 60 1 ||# 6 » KQ8 2NW2 120 Mean: 5DE-1 100 50 1
v KT9743 4HN4 -620 550  4HS4 620 20 4 v 6542 2NW2 120 -100 2SS-1 -50 20 2
+ KT93 Dif: 0 NS:2 4HN4 620 20 7 ¢ 62 Dif: 0 NS:-1 3CE3 110 0.0 2
aT72 IMP: 0 EW:-2 4SXE-2 300 6.0 1 » J862 IMP: 0 EW:1 2SS-2 100 0.0 2
A JT9 » Q8754 3NS-2 200 -13.0 1 ||a J964 aT 2NW2 120 1.0 2
v 62 v AQ v 83 — v AQT7 3DW5 150 2.0 1
+ A65 ¢ J87 + AQT9 ¢ 7543 3DE5 150 20 1
» J8643 & Q95 & AT5 & KQ97 28S-3 150 2.0 2
PV PN 4 AKG32 PEVEN 4 A7532 2NW4 180 20 1
N 14411 »J85 N ~~~~ ~ v KJ9
S 14411 ¢Q42 S ~~~~~ * KJ8
E ~~~~~ » AK E 35213 %43
~~~~~ 35213
#7 a J87 28W2110° Mean: 3sw-2 200 60 1||# 8 » AQ97 2HW2 110 Mean: 3HW-1 50 20 1
v J86 2SW2110 -30  2SwW-1 100 40 4 v 843 2HW2 110 -30  2HW-1 50 20 6
*QJ Dif: 0 NS:-2 2SwW2 110 20 6 + 9865 Dif: 0 NS:-2 2HW2 110 20 6
& AKJ97 IMP: 0 EW:2 2SW3 140 3.0 1 & K6 IMP: 0 EW:2 2HW3 140 3.0 1
& AKT93 & 542 2SE3 140 3.0 1 » K6 & JT53
v A4 + v Q952 3CN-2 200 5.0 1 ||e AT7652 v K
¢ 7632 ¢ AT * AQ ¢ J432
» 32 S & QT84 » 942 » QJ83
®eVPN L Q6 ®OVEeN o842
N 121~1 «KT73 N ~~~~~ v QJ9
S 121 ~1 ¢KOo854 S ~~~~~ * KT7
E ~~~1~ a65 E 2~11~ &AT75
~~~1~ 2111~
#9 & 972 3NS5 -460 Mean: 3NS5 460 100 1 |[|# 10 » AQT86 4SN4 -620 Mean: 4SN4 620 4.0 2
v AQ3 4HN-2100 30  3NS3 400 9.0 1 v 62 4HS4 -620 490  4HS5 650 4.0 1
o K8742 Dif: -560 NS:-4 4SE-2 200 50 1 ¢ AK84 Dif: 0 NS:4 4HS4 620 4.0 7
» T4 IMP: -11 EW:-10 3SE-1 100 20 2 » Q4 IMP: 0 EW:-4 3NS3 600 3.0 1
D) & AJT86543 4DN-1 50 20 3 [|a 42 # J753 A 00 1
v KT42 v J5 5DN-2 100 40 2 ||v Q974 _I_ vJ 3NS-2 200 120 2
¢ JT9 ¢ 65 4HN-2 100 40 1 ||e Q3 * J652
& AJ9763 & 8 4DN-2 100 40 2 ||& 98762 & AT53
PEVEN ,KQ 5DN-3 150 5.0 1 PEVEN 4 KO
N ~31~4 9876 N ~4 454 » AKT853
S 132~3 ¢AQ3 S ~4454 o797
E ~~~2~ &KQ52 E ~~~~~ & KJ
~ o~ o~ 2 ~ W~ e~~~




019FE = g > FMHERE 2B & = RT

#1: 7 ANTSRE©93.8) #2: 14 % F(93.69) #3: 5 B 1(86.54)

1 2 NS: B{E®R HFZHEIC) -7 4 NS: BE#E S 55 (BH0) -3 VP:[ 15.05 : 4.95 Total VP: 72.71 Rank:
EW: JFfh:L» JHIEEE0) 37 EW: BRAKSC #55k4E (FAC) 7 IMP:| 27 1" 6
-
# a6 3NW3 400 Mean: 5CE-1 50 90 1 |[# 2 Iy 5CXN-2 500 Mean: 4CN4 130 50 2
v KT9 3NW4 430 -370 4CE4 130 6.0 1 v 93 4SE-1-50 -60  3CN4 130 50 1
¢ QJT7642 Dif: -30 NS:-2 3NW3 400 1.0 4 ¢ J74 Dif: 550 NS:3 4SE-1 50 30 4
» 97 IMP: -1 EW:1  3NW4 430 20 3 & AJT76532 IMP: 11 EW:10 3DW-1 50 30 1
» QJ83 & A9 3NW6 -490 3.0 1 ||as A765 & KQ984 5CN-1 4100 1.0 3
v A2 v J875 3NW5 460 3.0 4 ||e AQ72 I v J86 5CXN-1 200 -40 1
* K983 *5 * QT9 * 8632 5CXN-2  -500 -10.0 2
& AKJ & QT6542 » Q8 » K
POV PN ,KT7542 PEVEN 4 JT32
N ~1~~~ »Q643 N 4 ~~~~ o KT54
S ~1~~~ ¢A S 4~~~~ ¢AK5
E 5~214 483 E ~213~ 9%
5~114 ~223~
# 3 » J93 25S2 -110 Mean: 2DXW-1 200 40 1 ||# 4 s Ab 4HW-1 -100 Mean: 3CE-2 200 8.0 1
v A876 2CW-1-100 60 2883 140 20 2 v QJ3 2CE3110 -120 4HW-1 100 60 3
¢T3 Dif: -10 NS:1 2SS2 110 20 1 ¢ K962 Dif: -210 NS:-0 3CE-1 100 6.0 1
& AKT7 IMP: 0 EW:-2 1NS2 120 20 1 & KT54 IMP: -5 EW:-6 2CE2 90 1.0 2
a7 » AB654 3CW-1 100 1.0 1 ||a JT42 a Q9 2CE3 4110 0.0 2
v QT4 v J52 2DW-1 100 1.0 1 ||e KT952 + v A84 3HW4 470 20 1
* AKQJ8 *2 2CW-1 100 1.0 2 ||e A54 *QJ 3DN-3 300 -5.0 1
» Q543 & 9862 1NS1 90 10 1 ||a8 & AQ9762 2SS-3 300 -5.0 1
®EVE®N L KQT2 3NS-1 50 3.0 1 ®¢V PN , K8753 4HW4 620 -11.0 2
N ~1121 ¢K93 2HN-1 50 30 1IN ~1~~~ #76
S ~1121 97654 2DS-1 -50 3.0 1 S ~1~~~ ¢T873
E ~~~~~ aJ 4HN-3 450 50 1[|]E 2~322 &J3
1~~=~~ 2~322
#5 I 3NS-2200 Mean: 4SXE-4 800 60 1 ||# 6 » KQ8 2SS-3150 Mean: 5DE-1 100 50 1
v KT9743 4HN4 -620 550  4HS4 620 20 4 v 6542 2SS-2100 -100  2SS-1 -50 20 2
¢ KT93 Dif: 820 NS:2 4HN4 620 20 7 ¢ 62 Dif: 50 NS:-0 3CE3 110 0.0 2
aT72 IMP: 13 EW:13 4SXE-2 300 6.0 1 » J862 IMP: 2 EW:2 2SS-2 100 0.0 2
A JT9 » Q8754 3NS-2 200 -13.0 1 ||a J964 aT 2NW2 120 1.0 2
v 62 v AQ v 83 — v AQT7 3DW5 150 2.0 1
+ A65 ¢ J87 + AQT9 ¢ 7543 3DE5 150 20 1
» J8643 & Q95 & ATS & KQ97 28S-3 150 2.0 2
PV PN 4 AKG32 PEVEN 4 A7532 2NW4 180 20 1
N 14411 »J85 N ~~~~ ~ v KJ9
S 14411 Q42 S ~~~~~ « KJ8
E ~~~~ ~ » AK E 35213 #43
~~~~~ 35213
#7 a J87 28W2110° Mean: 3sw-2 200 60 1||# 8 » AQ97 2HW3 140 Mean: 3HW-1 50 20 1
v J86 3CN-2200 -30 2SW-1 100 40 4 v 843 2HW2 110 -30  2HW-1 50 20 6
*QJ Dif: -90 NS:-5 2SW2 110 20 6 + 9865 Dif: 30 NS:-2 2HW2 110 20 6
& AKJ97 IMP: -3 EW:2 2SW3 140 3.0 1 & K6 IMP: 1 EW:3 2HW3 140 3.0 1
& AKT93 & 542 2SE3 140 3.0 1 » K6 & JT53
v Ad + v Q952 3CN-2 200 5.0 1 ||e AT7652 v K
¢ 7632 ¢ AT ¢ AQ ¢ J432
» 32 S & QT84 a 942 » QJ83
®eVPN L Q6 ®OVEeN o842
N 121~1 «KT73 N ~~~~~ v QJ9
S 121 ~1 ¢KOo854 S ~~~~~ * KT7
E ~~~1~ a65 E 2~11~ a&AT75
~~~1~ 2111~
#9 a 972 4DN-1 50 Mean: 3NS5 460 100 1 [[|# 10 » AQT86 3NS-2200 Mean: 4SN4 620 40 2
v AQ3 4DN-2100 30  3NS3 400 9.0 1 v 62 A 490  4HS5 650 4.0 1
o K8742 Dif: -50 NS:-4 4SE-2 200 50 1 + AK84 Dif: 0 NS:-0 4HS4 620 4.0 7
» T4 IMP: -2 EW:2 3SE-1 100 20 2 » Q4 IMP: 0 EW:12 3NS3 600 3.0 1
D) & AJT86543 4DN-1 50 20 3 [|a 42 # J753 A 00 1
v KT42 v J5 5DN-2 100 40 2 ||e Q974 _I_ vJ 3NS-2 200 120 2
¢ JT9 ¢ 65 4HN-2 100 40 1||e Q3 ¢ J652
& AJ9763 & 8 4DN-2 100 40 2 ||& 98762 & AT53
PEVEN ,KQ 5DN-3 150 5.0 1 PEVEN 4 KO
N ~31~4 9876 N ~4 454 » AKT853
S 132~3 ¢AQ3 S ~4454 o797
E ~~~ 2~ aKQ52 E ~~~~~ * KJ
~ o~ o~ 2 ~ W~ e~~~




X AN >\ 4 —_—
7 2019 2 2 RIBERE 2B 2 == RT 7
L} \J
#1: 7 A THFE93.8) #2: 14 R F(93.69) #3: 5 Bl 1£(86.54)
1 3 NS: #Ezgl BREEIC) 2 8 NS: FRELHE E54H5% (BHO) 29 VP:| 2.16 17.84| Total VP: 38.91 Rank:
EW: EJHeAN B9 5T (580) -29 EW: JEIR3E RR5T(FAC) 2 MP:| 7 . 37 13
— —
# a6 5CE-1-50 Mean: 5CE-1 50 9.0 1 |[|# 2 Iy 4SE-1-50 Mean: 4CN4 130 50 2
v KT9 3NW5 460 -370 4CE4 130 6.0 1 v 93 4CN4 -130 -60  3CN4 130 50 1
¢ QJT7642 Dif: -510 NS:-3 3NW3 400 1.0 4 ¢ J74 Dif: 80 NS:5 4SE-1 50 30 4
» 97 IMP: -11 EW:-9 3NW4 430 20 3 & AJT76532 IMP: 2 EW:-3 3DW-1 50 30 1
» QJ83 & A9 3NW6 -490 3.0 1 ||as A765 & KQ984 5CN-1 4100 1.0 3
v A2 v J875 3NW5 460 3.0 4 ||e AQ72 I v J86 5CXN-1 200 -40 1
+ K983 *5 + QT9 ¢+ 8632 5CXN-2 -500 -10.0 2
& AKJ & QT6542 » Q8 » K
T OV PN AKI7542 POVEN 4 JT32
N ~1~~~ v Q643 N 4 ~~~~ v KT54
S ~1~~~ ¢A S 4~~~~ ¢AK5
E 5~214 483 E ~213~ 9%
5~114 ~223~
# 3 » J93 2DW-1-100 Mean: 2DXW-1 200 40 1 |[|# 4 s Ab 3CE-1-100 Mean: 3CE-2 200 8.0 1
v A876 4HN-3150 60  2SS3 140 20 2 v QJ3 4HW-1-100 -120  4HW-1 100 60 3
¢T3 Dif: -250 NS:-5 2SS2 110 20 1 ¢ K962 Dif: 0 NS:6 3CE-1 100 6.0 1
& AKT7 IMP: -6 EW:-1 1NS2 120 20 1 & KT54 IMP: 0 EW:-6 2CE2 90 1.0 2
a7 » AB654 3CW-1 100 1.0 1 ||a JT42 a Q9 2CE3 4110 0.0 2
v QT4 v J52 2DW-1 100 1.0 1 ||e KT952 + v A84 3HW4 470 20 1
+ AKQJ8 *2 2CW-1 100 1.0 2 ||e A54 ¢ QJ 3DN-3 300 -5.0 1
» Q543 & 9862 1NS1 90 10 1 ||a8 & AQ9762 2SS-3 300 -5.0 1
PV PN L,KQT2 3NS-1 50 3.0 1 ®¢V PN , K8753 4HW4 620 -11.0 2
N ~1121 ¢K93 2HN-1 50 30 1IN ~1~~~ #76
S ~1121 97654 2DS-1 -50 3.0 1 S ~1~~~ ¢T873
E ~~~~~ aJ 4HN-3 150 50 1||E 2~322 &J3
1~~=~~ 2~322
#5 I 4HN4 -620 Mean: 4SXE-4 800 60 1 ||# 6 » KQ8 25S-150 Mean: 5DE-1 100 50 1
v KT9743 4SXE-2 -300 550 4HS4 620 20 4 v 6542 2SS-2100 -100  2SS-1 -50 20 2
¢ KT93 Dif: -320 NS:-6 4HN4 620 20 7 ¢ 62 Dif: -50 NS:-0 3CE3 110 0.0 2
aT72 IMP: -8 EW:-2 4SXE-2 300 6.0 1 » J862 IMP: -2 EW:-2 2SS-2 100 0.0 2
A JT9 » Q8754 3NS-2 200 -13.0 1 ||a J964 aT 2NW2 120 1.0 2
v 62 v AQ v 83 — v AQT7 3DW5 150 2.0 1
+ A65 ¢ J87 + AQT9 ¢ 7543 3DE5 150 20 1
» J8643 & Q95 & ATS & KQ97 28S-3 150 2.0 2
PV PN 4 AKG32 PEVEN 4 A7532 2NW4 180 20 1
N 14411 »J85 N ~~~~~ v KJ9
S 14411 ¢Q42 S ~~~~~ * KJ8
E ~~~~~ » AK E 35213 #43
~~~~~ 35213
#7 a J87 28W-1-100 Mean: 3sw-2 200 60 1/|[|#38 » AQY7 2HW-1'-50 Mean: 3HW-1 50 20 1
v J86 2SW3140 -30  2Sw-1 100 40 4 v 843 2HW2 110 -30  2HW-1 50 20 6
*QJ Dif: -240 NS:-3 2SW2 110 20 6 + 9865 Dif: -160 NS:-2 2HW2 110 20 6
& AKJ97 IMP: -6 EW:-4 2SW3 140 3.0 1 & K6 IMP: -4 EW:-2 2HW3 140 3.0 1
& AKT93 & 542 2SE3 140 3.0 1 » K6 & JT53
v A4 + v Q952 3CN-2 200 5.0 1 ||e AT7652 v K
¢ 7632 ¢ AT * AQ ¢ J432
» 32 S & QT84 » 942 » QJ83
®eVPN L Q6 ®OVEeN o842
N 121~1 «KT73 N ~~~~~ v QJ9
S 121 ~1 ¢K9854 S ~~~~~ * KT7
E ~~~1~ a65 E 2~11~ &AT75
~~~1~ 2111~
#9 & 972 5DN-2 100 Mean: 3NS5 460 100 1 |[|# 10 » AQT86 4HS4 -620 Mean: 4SN4 620 4.0 2
v AQ3 3SE-1-100 30  3NS3 400 9.0 1 v 62 4HS4 -620 490  4HS5 650 4.0 1
o K8742 Dif: 200 NS:2 4SE-2 200 50 1 ¢ AK84 Dif: 0 NS:4 4HS4 620 4.0 7
» T4 IMP: 5 EW:4 3SE-1 100 20 2 » Q4 IMP: 0 EW:-4 3NS3 600 3.0 1
D) & AJT86543 4DN-1 50 20 3 [|a 42 # J753 A 00 1
v KT42 v J5 5DN-2 100 40 2 ||e Q974 _I_ vJ 3NS-2 200 120 2
¢ JT9 ¢ 65 4HN-2 100 40 1 ||e Q3 * J652
& AJ9763 & 8 4DN-2 100 40 2 ||& 98762 & AT53
PEVEN ,KQ 5DN-3 150 5.0 1 PEVEN 4 KO
N ~31~4 9876 N ~4 454 » AKT853
S 132~3 ¢AQ3 S ~4454 o797
E ~~~2~ &KQ52 E ~~~~~ & KJ
~ o~ o~ 2 ~ W~ e~~~




019FE = g > FMHERE 2B & = RT

#1: 7 ANTSRE©93.8) #2: 14 % F(93.69) #3: 5 B 1(86.54)

1 4 NS: B8 BEREEEIC) 9 2 NS: ik Maﬁ%‘(ﬁﬁO)Bl VP:| 8.50 11.50 | Total VP: 93.69 Rank:
EW: Rocky Tam Barney Lui(58 EW: K&K EEE(FAC) -9) IMP:| 8 12 2
- —
# a6 3NW5 460 Mean: 5CE-1 50 9.0 1 |[|# 2 Iy 4SE-1-50 Mean: 4CN4 130 50 2
v KT9 3NW6 490 -370 4CE4 130 6.0 1 v 93 5CN-1100 -60  3CN4 130 50 1
¢ QJT7642 Dif: -30 NS:-3 3NW3 400 1.0 4 ¢ J74 Dif: -150 NS:-1 4SE-1 50 30 4
» 97 IMP: -1 EW:3 3NW4 430 20 3 & AJT76532 IMP: -4 EW:-3 3DW-1 50 30 1
» QJ83 & A9 3NW6 -490 3.0 1 ||as A765 & KQ984 5CN-1 4100 1.0 3
v A2 v J875 3NW5 460 3.0 4 ||e AQ72 I v J86 5CXN-1 200 -40 1
+ K983 *5 + QT9 ¢+ 8632 5CXN-2 -500 -10.0 2
& AKJ & QT6542 » Q8 » K
T OV PN AKI7542 POVEN 4 JT32
N ~1~~~ v Q643 N 4 ~~~~ v KT54
S ~1~~~ ¢A S 4~~~~ ¢AK5
E 5~214 483 E ~213~ 9%
5~114 ~223~
# 3 » J93 3CW-1-100 Mean: 2DXW-1 200 40 1 ||# 4 s Ab 3HW4 170 Mean: 3CE-2 200 8.0 1
v A876 1NS2 -120 60 2883 140 20 2 v QJ3 2CE290 -120 4HW-1 100 60 3
¢T3 Dif: 20 NS:2 2SS2 110 20 1 ¢ K962 Dif: 80 NS:1  3CE-1 100 6.0 1
& AKT7 IMP: 1 EW:-1 1NS2 120 20 1 & KT54 IMP: 2 EW:2 2CE2 90 1.0 2
a7 » AB654 3CW-1 100 1.0 1 ||a JT42 a Q9 2CE3 4110 0.0 2
v QT4 v J52 2DW-1 100 1.0 1 ||e KT952 + v A84 3HW4 470 20 1
+ AKQJ8 *2 2CW-1 100 1.0 2 ||e A54 *QJ 3DN-3 300 -5.0 1
» Q543 & 9862 1NS1 90 10 1 ||a8 & AQ9762 2SS-3 300 -5.0 1
PV PN L,KQT2 3NS-1 50 3.0 1 ®¢V PN , K8753 4HW4 620 -11.0 2
N ~1121 ¢K93 2HN-1 50 30 1IN ~1~~~ #76
S ~1121 97654 2DS-1 -50 3.0 1 S ~1~~~ ¢T873
E ~~~~~ aJ 4HN-3 450 50 1[|]E 2~322 &J3
1~~=~~ 2~322
#5 I 4HS4 -620 Mean: 4SXE-4 800 60 1 ||# 6 » KQ8 3DE5 150 Mean: 5DE-1 100 50 1
v KT9743 4HN4 -620 550  4HS4 620 20 4 v 6542 3CE3 110 -100 2SS -50 20 2
¢ KT93 Dif: 0 NS:2 4HN4 620 20 7 ¢ 62 Dif: 40 NS:-0 3CE3 110 0.0 2
aT72 IMP: 0 EW:-2 4SXE-2 300 6.0 1 » J862 IMP: 1 EW:2 28S-2 100 0.0 2
A JT9 » Q8754 3NS-2 200 -13.0 1 ||a J964 aT 2NW2 120 1.0 2
v 62 v AQ v 83 — v AQT7 3DW5 150 2.0 1
+ A65 ¢ J87 + AQT9 ¢ 7543 3DE5 150 20 1
» J8643 & Q95 & ATS & KQ97 28S-3 150 2.0 2
PV PN 4 AKG32 PEVEN 4 A7532 2NW4 180 20 1
N 14411 »J85 N ~~~~ ~ v KJ9
S 14411 ¢Q42 S ~~~~~ * KJ8
E ~~~~~ » AK E 35213 %43
~~~~~ 35213
#7 a J87 28W-1-100 Mean: 3sw-2 200 60 1/|[|#38 » AQY7 2HW-1'-50 Mean: 3HW-1 50 20 1
v J86 3SW-2-200 -30  2SW-1 100 40 4 v 843 2HW-1-50 -30  2HW-1 50 20 6
*QJ Dif: 100 NS:6 2SW2 110 20 6 + 9865 Dif: 0 NS:2 2HW2 110 20 6
& AKJ97 IMP: 3 EW:-4 2SW3 140 3.0 1 & K6 IMP: 0 EW:-2 2HW3 140 3.0 1
& AKT93 & 542 2SE3 140 3.0 1 » K6 & JT53
v A4 + v Q952 3CN-2 200 5.0 1 ||e AT7652 v K
¢ 7632 ¢ AT ¢ AQ ¢ J432
» 32 S & QT84 » 942 » QJ83
®eVPN L Q6 ®OVEeN o842
N 121~1 «KT73 N ~~~~~ v QJ9
S 121 ~1 ¢K9854 S ~~~~~ * KT7
E ~~~1~ a65 E 2~11~ &AT75
~~~1~ 2111~
#9 & 972 4SE-2 -200 Mean: 3NS5 460 100 1 |[|# 10 » AQT86 3NS3-600 Mean: 4SN4 620 4.0 2
v AQ3 5DN-2100 30  3NS3 400 9.0 1 v 62 4HS4 -620 490  4HS5 650 4.0 1
o K8742 Dif: -300 NS:-4 4SE-2 200 50 1 ¢ AK84 Dif: 20 NS:4 4HS4 620 4.0 7
» T4 IMP: -7 EW:-5 3SE-1 100 20 2 » Q4 IMP: 1 EW:-3 3NS3 600 3.0 1
D) & AJT86543 4DN-1 50 20 3 [|a 42 # J753 A 00 1
v KT42 v J5 5DN-2 100 40 2 ||e Q974 _I_ vJ 3NS-2 200 120 2
¢ JT9 ¢ 65 4HN-2 100 40 1 ||e Q3 * J652
& AJ9763 & 8 4DN-2 100 40 2 ||& 98762 & AT53
PEVEN ,KQ 5DN-3 150 5.0 1 PEVEN 4 KO
N ~31~4 9876 N ~4 454 » AKT853
S 132~3 ¢AQ3 S ~4454 o797
E ~~~2~ &KQ52 E ~~~~~ & KJ
~ o~ o~ 2 ~ W~ e~~~




